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QUESTION 1

Select two true statements about Group Configuration. (Choose two.)

A. Only the RF Menu uses the concept of Groups

B. Users can assign specific access to activities by using Group permissions

C. Permissions come already pre-assigned to standard Groups in the system and cannot be changed
D. Users must log out when switching Groups

E. User can belong to multiple Groups

Correct Answer: BE

QUESTION 2

When the Ship Load interface is generated, which statement is false?

A. The Load is updated to "Shipped" status

B. The Wave is set to "Completed" status

C. The Orders on the load are updated to "Shipped" status

D. The shipping cartons (OBLPNSs) assigned to the load are updated to "Shipped" status

Correct Answer: C

QUESTION 3

Your client wants to do flow-through allocations. Which two types of packing transactions achieve this flow? (Choose
two.)

A. Packlpn

B. Pick Cart
C. Distribution
D. PackNC

Correct Answer: CD

QUESTION 4

Why is it necessary to have a consolidation location?

170-1045-20 PDF Dumps | 1Z0-1045-20 VCE Dumps | 120-1045-20 Study Guide 2/3


https://www.geekcert.com/1z0-1045-20.html
https://www.geekcert.com/1z0-1045-20.html
https://www.geekcert.com/1z0-1045-20.html

VCE & PDF https://lwww.geekcert.com/1z0-1045-20.html
2024 Latest geekcert 1Z0-1045-20 PDF and VCE dumps Download

GeekCert.com

A. Consolidation locations are used to consolidate orders for a wave.

B. Packing using a Distribution transaction requires a consolidation location for each store.
C. Itis necessary if you want to consolidate while packing.

D. After you are finished picking your pick cart, you use a consolidation location to pack.

Correct Answer: D

QUESTION 5

Which two data conditions on the Outbound Order will always result in unsuccessful cross-dock allocations in WMS
Cloud? (Choose two.)

A. The item on the Outbound Order does not match the item on the LPN being received.

B. The quantity of the item on the Outbound Order is less than the quantity of the item on the LPM being received.

C. The quantity of the item on the Outbound Order is greater than the quantity of the item on the LPN being received.
D. The item on the Outbound Order is a batch tracked item.

E. The quantity of the item on the Outbound Order is exactly equal to the quantity of the item on the LPN being
received.

Correct Answer:. AB
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